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s e i ’ Bt HEE a1 BE |mtl  (#E Bt HEE faE HE |uwe] (E&E
RIRFMER (Keh ZAER) Fi& BR HER., Lyast 1,200| {& IhgH  |KIL15 1,200( {&
Eih HErE g H=E |me  HE iE Frest 100| & BET 9 800| kg
paf=d 63REA [/M7V . EUT@X| 1,200 E [24B5 TR iR YU4h, snst 150| {8 F= o 445 150( &
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§ 13,200 {& IMEE k7R, #7975 & =B ¥ 75 150| &
HER 14+ 600| ke FETic] 10 100| @
s b 2 g = y PrT &35 7Y5 50| & = VEDZ)N 100| &
RIRFNR N TR prE FE)N 300| ke K& ILEE Lyask 100| &
Eih HErE pt HE B HE KRS P& IMIE S 100| {8 B Ut E5451 50| {&
Ri& 2055 74, ¥A’ 400| {& KiR N34h5h 100| & £ 800 kg
18X R 1,600( {& Ak w75 150| & 3,000 {&
§ 2000 1&@ REA [l15=3 4445 100| {8
Ea454 ke .
BE—R
= 5 N ERE WEF S p::1 =) 8 100| f&
BRFURE20) Rl THEEDYY [REALAS 50| 1@ EH | mEE aE g [#u] @Z
Eth HEE RiE BE pul #HE BB IR FhL14+ = REAS & @5t #94 3,000| %
3] fiftE s £t 113k 250| {& 1 =En VIV ST 100| & Bl EB7Y 400| #&
N Eaki| KEF47v4k 200 & JeiE a— 435+ 100| @ BEREN [Avtaisn  |Ehon's 800( &
= Wi 400| {& &t 900 kg =#45 #E52 150| &
Hh INBMTY 200| {& 2,400 {& st Unst ENVF 250( &
BH H)a4 YN ABA & BEN REMIS (B4 500| kg
Ei& K520 LAY & R Eigs JFEJI EAR'Y 100| &
5 1,050 {& #5759 100| &
Ei HEE ki = [ {HE § 500 kg
s i LxE &Y 200| & 1,400 &
Kig B4 EFA5 400| ke 3,400
FEHh HEE g E sl {FE S 200| kg
R Ltx& 745+ 200| f& B F &7 100( & = -
AN hoH 300| {& SHAR ¥4 800| kg wEANS  BRHM
LR ¥, FhYH 350/ {& =)= 4 FEAR R, a5t 400( kg ferE—
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